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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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Cl -3 (Compound Change)

MATHS WITH SACHIN BALIYAN SIR




Cl -3 (Compound Change)

What is the compouynd
interest on Rs. 20000 at

per amum(for 2 years, while

interest being compounded

*2&'**
20% Maay & T «@

HALHS WITH SACHIN BAL
; ‘
8

A) Rs 3200 B) Rs 36000
C) Rs 6000 D) None of these









Cl -3 (Compound Change) MATHS WITH SACHIN BALIYAN SIR

What is the compoung
interest on Rs. 80000 at o3 Xy
wnllie

A) Rs 35128 J)/Rs 37128
C) Rs 97802 D) Rs 37810

[7930000

Vs
A S«:'ko% 0 O )( .6
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Cl - 3 (Compound Change) MATHS WITH SACHIN BALIYAN SIR

Find the compound _intere

on Rs. 16,000 at (20 % per ‘5 f” @
annum for am o
compounded ‘| 758 00 X
160003!!'&‘!1' J /HGIe , . +3
al:ﬁ-wzo%sﬂ-?vranicn’x/'S guef,
e fa




Cl -3 (Compound Change) MATHS WITH SACHIN BALIYAN SIR
Find the compaund interest on 1 0
Rs. 20000 at/10 % jer annum for MM/*L P> &

W~

compuagnded at the end =
20000 swa K> 0| ool oo




Cl -3 (Compound Change) MATHS WITH SACHIN BALIYAN SIR

A sum of money lent at compound
interest for 2 years at 20% per annum
would fetch Rs 482 more interest if the
interest will be payable half yearly
instead of it was payable annually . The

sum is? U&h RN & 2 a¥ & fav
20% Wfd a¥ T T & f&r sgrer
¥ IR & 7§ [ 9v 482 IUYA

A) 10000 B) 20000
C) 40000 D) 50000






Cl -3 (Compound Change)

MATHS WITH SACHIN BALIYAN SIR

Find the C.l. on_Rs 15,000 fof 2,
years at ser annum
compound interest while

being compounded at the end of
eac 15,000 9T GT
oi¢ 15% vfa ay

ﬂib_claﬁI ST W ghdey
mmwmﬁ?m
A% 8 #EA F Ha #A \)
Thge it & @1 7

A) Rs. 4915
C) Rs. 5901

B) Rs. 4965
D) Rs. 6907

O
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